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#2-16. Resolve the 50-Ib force into components acting along 2-21. The post is to be pulled out of the ground using two ropes

(a) the x and y axes, and (b) the x and y' axes. A and B. Rope A is subjected to a force of 600 Ib and is directed at
60° from the horizontal. Determine the force T in rope B if the post
starts to lift out when 6 = 20°. For this to occur, the resultant force
on the post is to be directed vertically upward. Also calculate the
magnitude of the resultant force.
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2-22. The post is (o be pulled out of the ground using two ropes
A and B. Rope A is subjected to a force of 600 b and is directed at
60° from the horizontal. If the resultant force acting on the post is
1o be 1200 Ib, vertically upward, determine the force 7 in rope B
and the corresponding angle 6.

Prob. 2-16

2-17. The force acting on the gear tooth is £ = 20 Ib. Resolve
this force into two components acting along the lines aa and bb.

2-18. The component of force F acting along line aa is required
10 be 30 Ib. Determine the magnitude of F and its component along
line bb.

Probs. 2-21/2-22

2-23. The chisel exerts a force of 20 Ib on the wood dowel rod
which is tuming in a lathe. Resolve this force into components
acting (a) along the n and  axes and (b) along the x and y axes.

#2-24. The chisel exerts a force of 20 1b on the wood dowel rod
which is turning in a lathe. Resolve this force into components
Probis/2-1712218 acting (a) along the 7 and y axes and (b) along the x and f axes.

2-19. Two forces having a magnitude of 10 Ib and 6 Ib act on
the ring. If the largest magnitude of the resultant force the ring can
support is 14 Ib, determine the angle 6 between the forces.

#2-20. Determine the angle 6 (0° = 6 = 90°) between the two
forces so that the magnitude of the resultant force acting on the
ring is a minimum. What is the magnitude of the resultant force?
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Probs. 2-19/2-20 Probs. 2-23/2-24




